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For linearized output of the 16 grey steps according to ISO 9241-306

’* (dash-star) coordinates to reach
the linearized output with the real
display reflection in office room;
lighter (positiv P) output

w’*
output

 = [w*
input

] 0.847

w* = r* = g* = b*

*’ (star-dash) coordinates
of real output with real
display reflection in office room;
darker (negativ N) output

w*’
output

 = [w*
input

] 1.18

 
fea31−5A

N  0,0 0,25 0,50 0,75 1,00  W

N 0,00

0,25

0,50

0,75

W 1,00

w*’output
w’*output

w*input

For linearized output of the 16 grey steps according to ISO 9241-306

’* (dash-star) coordinates to reach
the linearized output with the real
display reflection in office room;
lighter (positiv P) output

w’*
output

 = [w*
input

] 0.649

w* = r* = g* = b*

*’ (star-dash) coordinates
of real output with real
display reflection in office room;
darker (negativ N) output

w*’
output

 = [w*
input

] 1.54

 
fea31−5A

N  0,0 0,25 0,50 0,75 1,00  W

N 0,00

0,25

0,50

0,75

W 1,00

w*’output
w’*output

w*input

For linearized output of the 16 grey steps according to ISO 9241-306

’* (dash-star) coordinates to reach
the linearized output with the real
display reflection in office room;
lighter (positiv P) output

w’*
output

 = [w*
input

] 0.526

w* = r* = g* = b*

*’ (star-dash) coordinates
of real output with real
display reflection in office room;
darker (negativ N) output

w*’
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 = [w*
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] 1.9

 
fea31−5A

N  0,0 0,25 0,50 0,75 1,00  W

N 0,00

0,25

0,50

0,75

W 1,00

w*’output
w’*output

w*input

For linearized output of the 16 grey steps according to ISO 9241-306

’* (dash-star) coordinates to reach
the linearized output with the real
display reflection in office room;
lighter (positiv P) output

w’*
output

 = [w*
input

] 0.442

w* = r* = g* = b*

*’ (star-dash) coordinates
of real output with real
display reflection in office room;
darker (negativ N) output

w*’
output

 = [w*
input

] 2.26


